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1. g8 wE-I%, wien-gfere % 9§ 21 gt ghenfial o qeare st v w g

The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. .U, e W Remdl B sAvgds ufew) ot aR. Me W en /On /aea w ok o sl w
F % fu Faa wid wse U (el a1 i) TR STl

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers.

3. 30 % for, @t werRE w FEE SENE 6 UE @ I UH. AR, IS wie fan S| ghen % ofd ° S1LTH.AR.
ffiz H W F THEH R W FE AR o gu oft.uw. R, I e Fitee w1 din dfg ok sEehl el wfa
o e Waw)

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.

4. ma@ﬁswé:%qﬁwa:ﬁx/mas?%ﬁemawﬁ'@,ﬁa%magmﬁw«q{a),(b),(c)aﬁ?(d)ﬁqaﬁﬁl
I ¥ Had T & wal gl

Each objective question is provided with a text and/or figures wherever applicable with multiple answer
choices (a), (b), (c) and (d). Only one of them is correct.
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T @ fore g Y e stfieRaw Bt 27
Which of the following thread has got the maximum depth?

(a) dcIH/ Buttress (b) =® / Square
() @/ Worm (d) uaHl / Acme

3T ¥ e siftregur oiR sgfa wuur ufshan & wnfie =161 fohar T &7

Which of the following is not included in forming and shaping process?
(a) Wi/ Forging (b) T/ Broaching
() T/ Rolling () e BifHT / Sheet forming

= & & forw sifshan § <hic g s U ftaeh T J i T 2 ?

In which types of operation, motion of cutting tool is rotary as well as translating?
(a) w9/ Planing ) fafer/ Milling

© ey Turning (d) %%PT/ Drilling

T e R ¥ Y GIa 10 THUS # 1000 L. Tg=aT ¢ | HT BT @RUI T 67

A rocket starts from rest and reaches 1000 m in 10 seconds. The acceleration of the
rocket is

(a) 20 m/sec? (b) 9.81 m/sec? (¢) 10 m/sec? @ 12¢g

o welfe & wrftfa dy fRise o goe giar 82

Lathe spindle supported in head stock belongs to which pair

(@) Fdugme / Sliding pair (b) @G / Rolling pair

(¢0  da1gTa/ Turning pair (d) TMAPRGTE / Spherical pair
T AISHhIHICR [ SRIeR el 87

A micrometre is equal to

(a) 1/1000000 m (b) 1/1000 m

(c) 1/100000 m (d 1/10000000 m
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7. U WA du H Pl s e g
A CNC lathe has the following axes
@ X Y&Z (b) X & Y = only
(¢© X &Zu only @ Y & Z == only
8. 19 & e & UcH(PH) DI Fazy
Name the factor(s) for chip formation:
(a) Y@ DI/ Rake angle () fFao¥™ 10 / Clearance angle
(c) SUFEYU BT / Shear angle _ (d) wiaﬁmﬁ / All of the above
9. WA U & e UaTeH Bl Wishd B & [0 S 9 &1 SUANT fobar STl 82
Which button is used to activate the automatic operation of a CNC program?
- (a)  SMUTdeIeH A& / Emergency Stop () THA®H/ Cycle Stop
(¢) =PURYH/ Cycle Start (d) @ETed / Auto
10. dluash o figa U R
The acronym TLO stands for
(a) @™ 3fimae / Tool Length Offset
(b) <rcd a 3iae / Total Length Offset
(c) <W o™ 3fmEc / Taper Length Offset
(d) <EAAN HHIC / Time Length Offset
11. el oiae # q@ fen fugs w1 g e?
Head marking on the metric fasteners represent
(a) wEIEE / Ultimate Strength (b) @ WA / Yield Strength
()  dTHgEY / Young's Modulus (d) ®éRar/ Hardness




~f.. HUMAN SPACE FLIGHT CENTRE SET
e

TECHNICIAN (B) - MACHINIST A

12.

13.

14.

15.

16.

17.

TE-05

e e # oy SR Y Sidd 3= W gl 87
Maraging steel has very high strength due to

(a) Praee / Cobalt (b) eTgeHEd / Titanium
() @/ Nickel (d udfEgE / Aluminium

T Y JaRT BT SRl oK SaRe ST HH: 320 THUH, #R 200 THTH. ¥ | 31efa 1S 80 foh. =g ok
&1 350 foh.=ge/un? § | 59 farg fabe @lar =few?

Outer and Inner diameter of a thrust bearing are 320 mm and 200 mm respectively.
Axial load is 80 kN and pressure is 350 kN/m2. The number of collars required is

(@ 4 (b)) 5 () 6 d 9

20+0.05 gRT & SHareh Tgidl Bl TSR 1 57
What is the type of tolerance given by 20 + 0.05?

(a) YT/ Running Fit (M) fewfie wgar/ Bilateral tolerance
(c)  UHUI® Wed / Unilateral tolerance (d) Swdad @t / All of the above

T IR T TSt U STl U Hi 8 X0 Y I e SHfwmaH gl 67

In a shaping machine with mechanical driven ram, the ram speed is maximum

(a) 9 Tie & A W / At the end of the return stroke

(b) HRAIES S AAH/ In the middle of the cutting stroke

() HdRAEH & 3id W / At the end of the cutting stroke

d) HRAES DI FEATH / At beginning of the cutting stroke

& ®a %gﬁ,ﬁsmmmw%mﬁ%ﬁﬁmﬁmmﬁmﬁﬁm@?ﬁﬁ

For reaming a hole of diameter 6H7 in a steel work piece, the size of drill required is

(a) 6.2mm (b) 6.0 mm (¢) H5.8mm (d) 5.6 mm

I IR TR BT S ST TS Fakd SIeR & forg Fafeiad & @ S 7o g <ifey?
Which of the following properties are required for a cutting tool working on high

speed?
(a) 3fRad HSRaAr / Red hardness (b) Tfvgsu ufeRly / Wear resistance
(¢)  Wegar/ Toughness (d) Swdad a7 All of the above

5 March 2020
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18. 39 § Bl 4T UrEe B ife o A T 76T o) ot 2
Which one of the following thread parameter is not checked with ring gauges?

(a)  3&T9 / Pitch (b) uR=scd/ Profile
(c)  efereg @i / Helix angle (d) Sf& 7T &N / Pitch diameter

19.  AEHIHIER, HATR, ST Si<=ds B UREd BT 6d hes gRI 3 o g 27
The accuracy of micrometres, callipers, dial test indicator can be checked by
(a) @ / Plug gauge (b) 79/ Ring gauge
(¢)  WIR T / Feeler gauge (d f&UAF/ Slip gauge

20. o Uifen & U ofd: BT 160 M B, o, T v ured B Y
If each of the interior angles of a polygon is 160 degrees, it has

(a) 12umd /12 sides (b) 14u=d /14 sides
(0 16Ur%d / 16 sides (d 18urxd / 18 sides

21, MoReTd gy Hivse & e # Refif@d § A S99 a5 o1 S5t fear o &7
Which of the following curve is used in the development of tooth profiles in gearing?
(a)  SMcbHETT Bftfer / Archimedean spiral
(b)  @IRYH It / Logarithmic spiral
(c) Rl 8l / Cylindrical helix
(d g &1 ufdd=a / Involute of circle

22.  Ude W Rfferar B g R

Waviness on surface represents

(a)  Hdg we&fdl/ Surface roughness

(b)  Hdg gH1ac / Surface texture

() <& IYH/ Lay

(d)  ¥dg g9c R F&dl / Roughness over surface texture

TE-05 6 March 2020
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23.

24.

25.

26.

27.

TE-05

e & VR & Arereieul &1 Iudn e & R far s 27

Nitriding in steel tools is useful to

(a)
(b)
()
(d)

TNTd &8 &3 & faw / Reduce cost

aiREor yfeRty YURA & 110 / Improve wear resistance
<8 i gURA & R / Improve surface finish
Iugad & 9 B 7181/ None of the above

Y=sinx + cosx—b5a. dy/dxdg?
Y =sinx + cosx — 5a. What is dy/dx?

(a) COoSX — sinx (b) cosx—sinx—5 (¢) cosx— secx (d) sinx—cosx+5
YR yerdf &1 ufde-fasla g S grar 27

Stress-strain curves for brittle materials is

(a) fgurd / Quadratic (b) ¥F / Linear

(c) Rf&F / Non-linear (d) SwfadH B 78/ None of the above
e & @ B Rao gds 22

Which of the following statements is most correct?

(a) qﬁwwﬁmﬁuﬁﬂm%mqﬁ%ﬂﬁwmmm%ﬁﬁwﬁﬂmwm
W ¥4d T&l § / Reamers are used to finish holes with accuracies not possible
when a normal drill is used

(b)  WHEST SoER fafi veR F g 3% Wi B B1ed § / Adjustable taps will cut a wide
variety of threaded holes

(©) WW%WWWW%WG@WWWW%/T@S and reamers
can both be used without a machine tool

() SUYF AYFE T / None of the above

FrefefEe & & S e 7o 22

Which of the following statements is not correct?

(a)

(b)

(c)

(d)

g, Ysua o e 0y R o Tt Sem o / Work is not moved on a radial arm drill
press

Hageiie f§e 09 W W@uiie Bis Sues W6d § / Automatic feeds are available on
sensitive drill presses

TP TR e RERT I/ Multi-spindle drill presses
must always drill multiple holes at once

I H Y B e / None of the above

7 March 2020
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28. R @)U BORl [T A H Bl 87
Knoop hardness of diamond is of the order of
(a) 1800-2400 () 4000-5000
(c) 7000-8000 (d) 9000-10000

29.  M16 x 0.75-4gbg, T & RFEYE & 4 31 Ve =i 8?2
In the specification of screw M16 x 0.75-4g6g, 4 represents

(a) 9@/ Tolerance (b) e ffd/ Tolerance position
() Wi ¥s / Tolerance grade (d) sf&Fw = / Pitch diameter

30. PRI U fhue guRd &7
Preventive maintenance improves
(a) IRl & I@gddl / Material productivity
(b) ¥\ 3dg®Hdl / Labour productivity
(¢)  Usit I@rcsdr / Capital productivity
(d) T IdeHar / Machine productivity

31. YU U 6T SE §

Quality control is aimed at

(a) 3 uEaEr $ IR T@1 / Maintaining the desired quality
(b)  efifdd ura & UR 31 / Exceeding the desired quality

(¢ 7w B! FitaR gurAr / Continuously improving quality

(d) 1IUI'CEEIT &1 3R &3l / Following the quality

32, 5 uEiiETlgd 1802 | Ot 5 @ UF T 1 e fau i o S 155 2 ST & | gerd T we
&1 Ul amsd

The average of 5 numbers is 180. If one number is removed the average becomes 155.

Find the removed number.

(@ 230 (b) 280 (¢ 310 (d) 350

TE-05 8 March 2020
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33.

34.

35.

36.

317.

TE-05

TECHNICIAN (B) - MACHINIST A
R Rrftre gon @A) —— SRR & ol Ul = fFw A A, 6 = 99 iRIs & faes
feenaft & oia &1 B, d = BY BT ™
Vickers Pyramid Number (VPN) is equal to where P =load in kg, 6 = angle

between opposite faces of diamond pyramid, d = diameter of the impression.
(a) 2Psin 6/d? (b) Psin 6/d? () (P/2)sin 6/d2 (d) Psin 6/2d?

gfg 2m + 20+m) = 24 T m BT Hed T §?
If 2m + 2(+m) = 24, then what is value of m?
(a) 0 b)) 1/3 (c) 3 (d 6

Rpererer o1 SuaT forep fore fawan STt &

Fixtures are used

@) fafeem, afvede a1 2t vereH! & Suerv B §yTe iR Anfed &7 & i / For holding
and guiding the tool in drilling, reaming or tapping operations

(b) fofed, arEfEn, wnf ar e veremt § e @1 gyl & 1T / For holding the work in
milling grinding, planning or turning operations

(© o B RiYsdr Bt 5" & & g / To check the accuracy of work piece

(d) ST TYDET61 / None of the above

IR F 37 3R arueh e BT GrHRT SUTT T B 82

The usual ratio of the forward and return stroke in shaper is

(a) 251 by 1:2 ¢ 2:3 @@ 3:2

feafs o e ferwas ferg o e &2

Trepanning is performed for

(2) o %3 T 3 &1 uar @ & T / Finding a drilled hole

(b) &t & f51 v 98a T & & fAT / Producing a large hole without drilling
() IYP W@ F W / Truing a hole for alignment

(@) f5a 0 Ty $ §81 & & ¢ / Enlarging a drilled hole

9 March 2020
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38.

39.

40.

41.

TE-05

£ v, et & IR § Fefoad o ¥ el fdavo 98t 82

Which of the following statement is true about EDM machining?

(a) T Yo PR Ydg &1 HIMH $X Gl & / It can machine the hardest surface

(b) UE TAE H 3=l AW a8 / It produces high degree of surface finish

(©) 9NWR 3R o F g H+ft ¥ud 78t ga1 & / The tool and work are never in contact with

each other
(@ Sudad @it/ All of the above

@R, o sdite 7 N002G02G91X40Z40....., GO2 qur G91 1 §1d €2

In CNC program block, N002G02G91X40Z40...., GO2 and G91 refer to

(a) amad feun H gEeR 3fddsH SR alfte fa&R / Circular interpolation in counter
clockwise direction and incremental dimension

(b) aFad foRm H geleR Sidawd 3R R4 faWR / Circular interpolation in counter
clockwise direction and absolute dimension

(¢  cfémmad fexn # dareR siqdwr R affie IR / Circular interpolation in clockwise

direction and incremental dimension

(d) <fomed foen & queR Sy SR FRUs ffWR / Circular interpolation in clockwise

direction and absolute dimension

3 et 7, 95 Teeeld e S § g S (3RT) ———— SR & Sl § Sf6l In = |

3T, A = U BN §

In worm gears, the normal lead in a worm having multiple start threads is given by
where In = normal lead, A = lead.

(a In=1l/cos A ® In=1%*cosA (¢ In=1 ‘ (d In=1*tanA

i § e ™ @ seen yema gfaliy sg SR

Shock resistance of steel is increased by adding

(a) T@a / Nickel

() it/ Chromium

() F@aa®ifimg / Nickel and Chromium

(@ e, ¥ 3 BmRY / Sulphur, Lead and Phosphorous

10 March 2020
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42.

43.

44.

45.

46.
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TECHNICIAN (B) - MACHINIST A
3MIWR T FIaEry T FRA F R TR dr 8y —— G el C = @ qufkadl,
V =4l /M e  $RA A, n = U uRadl, T = 3R &1 Bremars @

Taylor’s relation for calculating tool life is where C = a constant,

V = cutting speed in m/min, n = a constant, T = tool life.
(@) T*Ve=C (b) V * Ta=( 0 V*Toes=C d T*Ve2=C_C

ISR Uo7 %1 T B areh TRen =) Ui &

Primary variable affecting tool wear is

(a)  SMEIR wIfEE / Tool geometry (b) ¥ uRfART / Cutting conditions
(0 dA @A/ Cutting fluid (d) SogEd @l / All of the above

Frefered & § sl faavu dy & ar § 9w 77

Which of the following statements about lathes is most correct?

(a) S 9% Had AN MHR & ghe! B! Ussdl & / Jaw chucks hold only standard sizes of
pieces

(b) U BN gHS! B! 9% I UHSal & / Mandrels hold work pieces from the outside

(©) SIS DR & AU & iU AR Sd %1 IudT a1 W & / The chasing dial is used for

measuring fine cuts :
@) s eg 3R Bl Agw I F HFTEN & / Lead screws and feed rods are lathe parts

T.3MT5. 31341 N ¥P @ Ul B g1S 18It 27

The unit of linear acceleration in SI units is

(a) feet/sec? (b) m/sec (¢) rad/sec? (d) m/sec?
A ¥ s ad g e

Which of the following is a turning pair?
()  YArH WA $5 & fived g RISt / Piston and cylinder of a reciprocating steam

engine
(b)  IAER W P < ORI H FHIS Bier Ffed ¢R1/ Shaft with collars at both ends fitted in

circular hole
(¢ WYHTTeAea s ¥F / Lead screw of a lathe without nut

(d) 9 ¥ide sarse / Ball and socket joint

11 March 2020
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47

e 5 e A PR e e e &

Which of the following is not a true relationship for gears?

(a) TSR SHFHT X T HeFTHT = p1/ Circular pitch x Diameter pitch = pi
(b) AISgd = ped X Ayl g=11 / Module = ped % no. of teeth

¢ o%sd=1.157 Argq@ / Dedendum = 1.157 module

@ uSsH=2.157 Areyd / Addendum = 2.157 module

48. i S At 82

Grit Number represents

(a) Hdg §ac / Surface texture
() g™y / Lay
()  Tdg gAac W =&l / Roughness over surface texture

@ Suded HAFE 781 / None of the above

49. HONGd AER b sitafee URIEe B ST SR R SIHRIG: STy 91 SUTR P WS R w4l Ed ¢?

To reduce internal stresses of a hardened tool, the method of heat treatment

generally applied 1s
(a) <mRA/ Tempering (b) ORI / Annealing
(¢ e/ Stabilizing () TEHERIGY / Normalizing

50. nﬂawé?wﬁugaﬁaaasﬁmﬁ@mﬂaaﬂwmwm%’?

The general ratio of soluble oil to water used as coolant 1s

(a 1:10 by 1:20 (ef - 10EL @ 20:1

51. @ﬁﬁmﬂﬁﬂ@%mwmmmwm%?

The instrument used to measure high temperature in the furnace is

(2)  amoEdl / Thermometer (b) e/ Calorimeter
(c)  S«gHt / Pyrometer (d) argeEdd / Barometer

TE-05 12 March 2020
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52.

53.

54.

55.

b6.

TE-05

TR TR 9 @ TERET Ba qT arfea e A BT R W &7

Grinding with a balanced grinding wheel will make it possible to achieve the required
(a)  as el & Ty fawrda uRgear/ Dimensional accuracy with surface finish

(b)  &ad ¥ag Wi / Surface finish only

(¢)  [¥ydr@® ggrar / Positional tolerance

(d) &g "y o1 U / Pattern of lay

3ffaie 1R frad gRI S o §ahd 87

Internal gears can be made by

(a)  ®ifdT/ Hobbing

(b)  fafesT/ Milling

(c) P B & TIY 3Mpid &uur/ Shaping with rack cutter

(@ fofme sawa & w1y efigpid =utr / Shaping with pinion cutter

ferfémT & v R @Y 3@TE & forg e A 9§ i fdavor w8t &7
Which is the correct expression for the unit of feed rate in milling?

(a) mm/rev (b) m/min (¢) mm/sec (d) mm/min

2 fir o1, Tirerd % Ty 1 i fex F oER F wafifad gie o1 YR (99 2.7 7. AR T e e?

Weight of Aluminium sheet (density 2.7 gm/cc) of size 1 meter square with 2 mm
thickness is

(a) B5dkg ®) b5.4kg © 0.54kg @ 1kg

P & Prdied 18 Tae & Tas AT &1 GYRA & g oRpd Sa [bud gR1 far S &7

A finish cut is given to improve the surface finish of a rough milled workpiece by

(a) HaA T, BIS &Y d B B TeNIs $I BH bed gU/ Decreasing the cutting speed, feed
rate and depth of cut

(b) ISR, B B! TETE Bl 9gI §U IR Haxd i M B BH Hd §U / Increasing feed rate,
depth of cut and reducing cutting speed

© WIS, B Bl e R HaRA B T Bl 9¢1d §U / Increasing feed rate, depth of cut
and cutting speed

(d) FaA B G BT SE §Y BIS @ G FAA Bl TeW0s bl DH HXd §U / Increasing cutting
speed, reducing feed rate and depth of cut

13 March 2020
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57.  T[uiae e § SaTer € SUTeT 0.2% 9T i i Wigd € 1 500 UFT & Iared H e 3 gof wmt Wiga
gl :
The quality control allows at the most 0.2% defective parts. How many defective

parts can be allowed in a production of 500 parts?
(a) 1 (b) 2 (¢ 10 (d) 20

58.  faftr wepm <t firererg Wi & IaTeA & fore faft=r Myurad adl & Siet o €, Y, 9 T T & fa
et B S My & S YaieH &1 ITANT 31 o 62
Various alloying elements are added to produce different alloy steels, which one of
the following combinations of alloying elements is using for HSS?
(a) HIEw, Aea g AfdesTd / Chromium, Nickel and Molybdenum
M) o9 AfdeeTd g fafeeie / Nickel, Molybdenum and Silicon
(¢)  wIftrgm difeas g AT / Chromium, Vanadium and Manganese
(@  ifrgm, 39fsay g @ed / Chromium, Vanadium and Tungsten

59. WuAh v H “MO00” e HT I oY §iel 87
In CNC program, the command “M00” means

(a) WOME S A / End of program
(b) Risa @ cfomad = & gu / Clockwise rotation of spindle
(¢)  fo1 o UrmH &1 &g F-A1 / Stop program unconditionally

(d Sydad # ¥ P T8 / None of the above

60. wg%wﬁvwﬁwaﬁuﬁﬁ%mmﬁ%%@ﬁﬂ%@ﬁﬁﬁﬁﬂﬁmmmm
Ildl g7
Which of the following process is used for preparing parts having large curved
surfaces and thin sections?
(a)  ®ie u=iifT/ Hot machining
(b) rfF® AT 7 Chemical milling
(¢) Uy 7T/ Ultrasonic machining
(d) E¥wH ufkar/ ECM process

TE-05 14 March 2020
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5. mﬁaqﬁﬁwéwaﬁ%wmﬁﬁlaﬁaﬂt%%ﬁ?ﬁqaﬁ,mq%ﬁmwaﬂxwm%%ﬁ@m

sreT wman| FeRt s % R Uek @ S7TEreR IwY & Terd 3wt A STl

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. sr%rgf?aa»‘ra?rari%:ﬁﬁtm%ﬂ%ﬁﬁtﬂAmgmgmg%ﬂ%ﬁﬁmwé,ﬁﬁaﬁ.@.mﬂﬂzm,a‘mﬁ
R e Sel HOT TR 21 YE 7 F T, I 1A A A S|

Question booklets have been marked with A or B or C orD on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

g@wﬁwwﬁw%wﬁm%mmmmmﬁWﬁsﬂzqﬁfﬁm@ﬂl

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. mﬁﬁsﬂzmmmaﬂ#%qﬁé,qﬂwﬁaﬁm@rﬁrsﬂzmg@mﬁa%@mﬁmqﬁmﬁ@aﬁm%m
& TEaER FW Bl

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.

Candidates should sign against THEIR names only.
9. ultem & 3id ® (1)qﬁéﬁw%ﬁaﬁqﬂm%mw(2)n§raﬁ.@.m.waﬂzﬁﬂwaﬁmaﬂﬁw
et oft uftfeafy o sreff 2@ 7 @ S

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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